

$$\begin{aligned}
 a) \quad 100 \left( \frac{X - X_i}{X_s - X_i} \right) &= 100 \left( \frac{aT + b - a \cdot 0 - b}{a \cdot 100 + b - a \cdot 0 - b} \right) \\
 &= 100 \left( \frac{aT}{100a} \right) \\
 &= \frac{100}{100} \frac{a}{a} T = T \quad \square
 \end{aligned}$$

$$\begin{aligned}
 b) \quad 100 \left( \frac{\ln(X/X_i)}{\ln(X_s/X_i)} \right) &= 100 \frac{\ln(X) - \ln(X_i)}{\ln(X_s) - \ln(X_i)} \\
 &= 100 \left( \frac{\frac{T-b}{a} - \frac{0-b}{a}}{\frac{100-b}{a} - \frac{0-b}{a}} \right)
 \end{aligned}$$

$T = a \ln(X) + b$   
 $T - b = a \ln(X)$   
 $\frac{T-b}{a} = \ln(X)$   
 $X = e^{\frac{T-b}{a}}$

$$= 100 \frac{\left( \frac{T}{a} \right)}{\left( \frac{100}{a} \right)}$$

$$= T \quad \square$$